PRELIMINARY ROUND / VONG LOAI QUOC GIA
PE SO 2:

Logical Thinking / Tw duy lo-gic

QI.[1.13]

5 years later, Alice will be 12 years old. Alice’s father is 23 years elder than her.
How old is Alice’s father now?

5 ndm nita thi Alice 12 tuéi. Bé cia Alice hon ¢6 bé 23 tuéi. Hoi bay gio bé ciia

Alice bao nhiéu tuéi?

A. 40 B. 30 C. 20 D. 35
Solution:

12-5=7

7+23=30

Key: B

Q2.[1.I.1]
By observing the pattern, what is the English letter in the space provided?

Quan sdt quy ludt dwdi ddy dé dién chir cdi Tiéng Anh thich hop vao ché tréng.
C,E,G,I, ,M,O

A.N B.J C.L D.K

Solution:

ABCDEFGHIJKLMNOPQRSTUVWXY?Z

C+2=E

E+2=G



G+2=1
[+2=K

Key: D

Q3.[1.L1]

Observe the sequence below to replace the flag with a suitable number.

Quan sdt day sé duwdi ddy dé thay thé ld co bang sé thich hop.

3,4,6,9,13,107, ...

A. 18 B. 17 C. 14
Solution:

3+1=4

4+2=6

6+3=9

9+4=13

13+5=18

Key: A

Q4.[1.1.2]

D. 15

Refer to the figure below, how many circles are there in the 5th group?

Duea vao day hinh dudi ddy, hoi co bao nhiéu hinh tron trong nhom thir 5?



X | O| O | X
X @] X
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X | O| 0| X%
A. 4 B. 8 C.12 D. 16
Solution:
X|1O|O|O|X
XIX|O|IO|X
XIO|IX|OIX
X|1O|O|X | X
X|O|O[O|X
12 circles
Key: C
Q5.[1.14]

Students in a class form a line. Kim sees that there are 5 students in front of her
and 3 students behind her. How many students are there in Kim’s class?

Hoc sinh trong mét I6p xép thanh mét hang doc. Kim thdy rdang phia truéc minh 6

5 ban va phia sau minh co 3 ban. Hoi lop cua Kim c6 bao nhiéu hoc sinh?
A.8 B.9 C.10 D.2

Solution:



5 + Kim + 3 = 9 students
Key: B

Arithmetic / S6 hoc
Q6. [ 1.I1.1 ]
Find the value of 0 +2+4+ 6 + 8 + 10.

Timgiatricua0+2+4+6+8+ 10.

A. 30 B. 20 C. 10 D. 40

Solution:
0+2+4+6+8+10=(0+10)+2+8)+4+6)=10+10+10=3x10=30
Key: A

Q7.1 1.IL3 ]

By observing the equation, which number is being covered by the book?

Quan sdt phép tinh dwéi day, héi sé nao dang bi che boi quyén sach?

19-0=6
A. 13 B. 16 C.3 D. 14
Solution:
19-13=6
Key: A
Q8. [ 1.I1.2 ]

Find the valueof 2+3-4+2+3—-44+2+3-4+2+3 -4,

Tinhgiatricua?2 +3—-4+2+3-4+2+3—-4+2+3—-4.



A.3 B. 1 C. 4 D.5
Solution:

243-44+2+3-4+2+3-4+2+3-4=Q2+3-4)+2+3-4)+2+3-4)
+(2+3-4)=4x(2+3-4)=4x1=4

Key: C

Q9. [ 1.IL3 ]

What is the value of K if the equation below is correct?

Tim gid tri cia K dé dwoc phép tinh ding dwéi day.
6+K=8-5+11

A.6 B. 8 C.4 D.5

Solution:

6+K=8-5+11

6+K=14

K=8

Key: B

Q10.[ 1.11.4 ]
If A and B represent different digits, what is the value of A so that the equation is

correct?

Biét A va B la cdc chiv s6 khac nhau, hoi gia tri cua A la bao nhiéu dé ta duoc

phép tinh dung dwoi ddy?



+ B )
g8 0
A.S B.2 C.3 D.4

Solution:
B+5=10;B=5
I+A+5=8;A=2
Key: B

Number Theory / Ly thuyét so
Q11.[ 1.II1.3 ]

Observe the following sequence and find the smallest even number.
Quan sdt day sé duwdi ddy dé tim ra sé chan nhé nhat.
38, 20, 18, 15, 49, 26, 7
A7 B. 15 C.18 D. 20
Solution:
18
Key: C

QI12.[ 1.111.4 ]

A box has balls with consecutive numbers from 0 to 50 (0, 1, 2, 3, 4,

many balls are there in the box?

..., 50). How



Mot hop chira cac qua bong dwoc danh s6 lién tié’p tir 0 dén 50 (0, 1,2 3 4, ..,
50). Hoi c6 bao nhiéu qua bong trong hop do?

A. 40 B. 51 C.25 D. 50
Solution:

50-0+1=51

Key: B

QI13.[ 1.111.4 ]

Find the 6th number in the arithmetic sequence below.
Tim s6 thi 6 trong ddy so cach déu duwéi day.
31. 29, 27, 25. ...
A.24 B. 23 C. 19 D. 21
Solution:
31-2=29
31-(6-1)x2=21
Key: D

Q14.[ 1.II1.2 ]
Andy had 20 candies. Andy gave Betty 3 candies then Betty gave Cindy 4 candies
so that 3 friends had the same number of candies. How many candies did Cindy

have originally?

Andy ¢6 20 cdi keo. Andy cho Betty 3 cdi keo réi Betty lai cho Cindy 4 cdi keo. Khi

dé6 3 ban 6 s6 keo bdng nhau. Héi lic dau Cindy co bao nhiéu cdi keo?

A. 19 B.21 C. 18 D. 13



Solution:

After: 20 -3 =17
Originally: 17 -4 =13
Key: D

Q15.[ 1.111.4 ]
David has 3 cards. The total number of cards of David and his brother is the

smallest 2- digit odd number. How many cards does David’s brother have?

David co6 3 la bai. Tong so la bai cua David va anh trai la so lé nho nhat co 2 chir

s6. Hoi anh trai David ¢é bao nhiéu ld bai?

A. 10 B.9 C.8 D.7
Solution:

11-3=8

Key: C



Geometry / Hinh hoc
Q16.[ 1.IV.1 ]

How many squares are there in the figure below?

Hoi co bao nhiéu hinh vuong trong hinh dwoi day?

A. 19 B. 14 C. 15 D. 20
Solution:

14+4+1=19

Key: A

Q17.[ 1.IV2 ]

At least how many cubes are there in the figure below?

Hoi 6 it nhdt bao nhiéu hinh lgp phwong trong hinh dwéi day?

/

(1P 7

A. 12 B. 11 C.13 D. 10




Solution:
6+6=12
Key: A

QI8.[ 1.1V4]

How many interior angles are there in the polygon below?

Hoi hinh da gidac dwoi ddy co bao nhiéu goc trong?

A. 13 B. 14 C. 15 D. 16
Solution:

16 interior angles

Key: D

Q19.[ 1.IV5 ]

How many line segments are there in the figure below?

Hoi ¢6 bao nhiéu doan thang trong hinh dwéi ddy?



A. 18 B. 20 C.16 D. 14
Solution:

20 line segments

Key: B

Q20.[1.1V.3 ]

Refer to the beads below. How many white beads are there in the first 15 beads?

Xét chudi hat dwdi déy. Hoi c¢6 bao nhiéu hat trang trong 15 hat dau tién?

Ceg®- Vool ®0,

A. 15 B.7 C.8 D.6

Solution:

The pattern : O.’.*O*

15-4=11-4=7-4=3
24+2+42+1=7

Key: B



Combinatorics / T6 hop
Q21.[ 1.V.3]
Which number below is the greatest number?

Tim s6 I6n nhat trong cdc s6 dwdi day?

2102202 . 20022021 . 20102021 . 20102120
A. 2102202 B. 20022021 C. 20102021 D. 20102120
Solution:
20102120
Key: D

Q22.[1.V3]

Among the following numbers, how many odd numbers are there?

Hoi ¢6 bao nhiéu sé 1é trong cdc sé dwdi day?
21,32,444,101,8,99,241,76

A.3 B.5 C.4 D.2

Solution:

21,101, 99, 241

Key: C

Q23.[1.V4]

Choose 2 digits, without repetition, from 0, 2, 4, 6 and 9 to form 2-digit even

numbers. How many different numbers are there?

Chon 2 chit s6 khong Idp lai tir 0, 2, 4, 6 va 9 dé ldp thanh sé chan cé 2 chir so.

Héi cé thé ldp dwoc bao nhiéu s6 khdc nhau nhu vay?



A. 16 B. 13 C.14 D. 15

Solution:

20, 24, 26, 40, 42, 46, 60, 62, 64, 90, 92, 94, 96

Key: B

Q24.[ 1.V.5]

Amy, Billy, Celine and Dan donated 20 coats to the homeless. Given that each

person must donate at least 2 coats and their numbers of coats must be different, at

most how many coats can Dan donate?

Amy, Billy, Celine va Dan quyén gop 20 chiéc do dm cho nguoi vo gia cu. Biét
rang moi ban can quyén gop it nhat 2 chiéc do va so ao cua moi ban la khac nhau.

Hoéi Dan c6 thé quyén gdp nhiéu nhdt bao nhiéu chiéc do?

A.6 B. 14 C. 11 D. 20

Solution:

20-2-3-4=11

Key: C

Q25.11.V.5]

The 3 x 3 square on the right is called a ,Magic square® with 9 consecutive

numbers from 1 to 9 in each cell. The sum of numbers in each column or row is

equal. Find the number that should be filled in the cell with question mark.

Hinh vuong 3 x 3 bén phai duoc goi la hinh vuéng ma thudt gom 9 so lién tiép tur 1
den 9 duoc dién vao moi 6. Tong cdc s6 6 moi hang va moi cot la bang nhau. Hay

tim s0 thich hop dé dién vao 6 co dau hoi cham.



A.2 B.4
Solution:

1+5+9=7+5+3=15

2176
915|1
4138

Key: A

C.6

D.8



